### National Institute for the Mentally Handicapped Secunderabad

#### Report

### ADIP Assessment camp Date: 5-12-14

#### Spurthi Special School, Rasoolpura.

As approved camp was conducted on 27-11-14 .Students with Intellectual Disability were assessed (No. 36) ADIP assessment camp conducted in area of Therapeutic and Special Education aspects accordingly assessment forms were filled and verified for recommending approved list of aids \ appliances and TLMs in accordance to the severity level of disability and functional need of beneficiaries .

Total 36 no. of assessment completed with 32 no. of Students Intellectual disability and 4 no. of associated condition of visual, hearing motor impairment.

#### Hellen Keller School for Deaf and MR

As approved camp was conducted on 27-11-14 .Students with Hearing Impairment were assessed ( No.20 ) ADIP assessment camp conducted in area of Auditory aspects. Accordingly Assessment forms were filled and verified for recommending approved list of aids  $\setminus$  appliances in accordance to the severity level of disability and functional need of beneficiaries.

Total 20 no. of assessment completed with Students with Hearing Impairment.

#### **English Foreign Language University (EFLU)**

As Approved for conducting Assessment Camp for students of higher education attending English Foreign Language University (EFLU) and colleges around. On conducting Assessment it was related that total.

Total 99 No. of Visual impairment 24 No. of Orthopaedically Handicapped are register. Two Doctors supported for Assessment namely

- 1. Dr Atul Gupta, M.S Opthomologist, Associate Professor at Sarojini Devi Eye Hospital, Hyderabad.
- 2. Dr.Roshan Jaiswal ,Pediatric Orthopaedician, Kamineni Hospital.
- 3. They were support by opthometrist Mr.Ramesh and Dr. Karthik (Orthopaedician)

The ADIP Team from NIMH and 6 voluntaries from English Foreign Language University (EFLU) supported the camp.

Copy of beneficiaries, Doctors, NIMH Team and voluntaries is appended with the report for reference.

### **Hyderabad Central University (HCU)**

As Approved for conducting Assessment Camp for students of Higher Education attending Hyderabad Central University (HCU) and on conducting Assessment it was revealed that

Total 58 no. of Visual impairment 33 no. of Orthopedically Handicapped are register. Two Doctors supported for Assessment namely

- 1. Dr Atul Gupta, M.S Opthomologist, Associate Professor at Sarojini Devi Eye Hospital Hyderabad.
- 2. Dr.Roshan Jaiswal, Pediatric Orthopaedician, Kamineni Hospital. He was support by Dr. Karthik.

The ADIP Team from NIMH and 6 voluntaries from Hyderabad Central University (HCU) supported the camp.

Copy of beneficiaries, Doctors, NIMH Team and voluntaries is appended with the report for reference.

### Prerana Special School, Malakpet

As approved camp was conducted on 02-12-14 . Students with Intellectual Disability were assessed ( 26 No.) ADIP assessment camps conducted in area of Therapeutic and Special Education aspects accordingly assessment forms were filled and verified for recommending approved list of aids \ appliances and TLMs in accordance to the severity level of disability and functional need of beneficiaries .

Total 26 no. of assessment completed with 21 no. of Students Intellectual disability and 5 no. of associated condition of visual, hearing motor impairment.

### Radha Special School, Kothapet.

As approved camp was conducted on 02-12-14 .Students with Intellectual Disability were assessed (No. 36) assessment conducted in area of Therapeutic and Special Education aspects accordingly assessment forms were filled and verified for recommending approved list of aids \ appliances and TLMs in accordance to the severity level of disability and functional need of beneficiaries .

Total 44 no. of assessment completed with 34 no. of Students Intellectual disability and 10 no. of associated condition of visual, hearing motor impairment

SmtV.R.P.Sheilaja Rao CC-ADIP

### National Institute for the Mentally Handicapped Secunderabad

### Report

### **ADIP** Assessment camp

Date: 8-12-14

#### Kiranam and Mother lap Special Schools, Khammaguda, RR-Dist

As approved camp was conducted on 08-12-14 .Students with Intellectual Disability were assessed ( 39 No. ) ADIP assessment camps conducted in area of Therapeutic and Special Education aspects accordingly assessment forms were filled and verified for recommending approved list of aids \ appliances and TLMs in accordance to the severity level of disability and functional need of beneficiaries .

Total 39 no. of assessment completed with 32 no. of Students Intellectual disability and 7 no. of associated condition of visual, hearing motor impairment.

#### Arun Special School, Shastripuram.

As approved camp was conducted on 08-12-14. Students with Intellectual Disability were assessed (No. 12) assessment conducted in area of Therapeutic and Special Education aspects accordingly assessment forms were filled and verified for recommending approved list of aids \ appliances and TLMs in accordance to the severity level of disability and functional need of beneficiaries .

Total 12 no. of assessment completed with 6 no. of Students Intellectual disability and 0 no. of associated condition of visual, hearing motor impairment.

#### National Institute for the Mentally Handicapped, Secunderabad

Date: 17-12-14

As approved camp was conducted on 17-12-14 .Students with Intellectual Disability were assessed from various NGO's located in Twin Cities namely; NIMH School – 18 No.s, Sri Vidya Special School, West Marredpally – 7 No.s, Arms Special School ,Kukatpally – 4 No.s ,Sherya Special School, Kukatpally – 1 No.s ,Swayamkrushi, Self Reliance for Mentally Challenged , Trimulgheery – 5 No.s ,Radha Special. School, Kothapet – 2 No,s.

Total (37 No.s) assessment conducted at NIMH ,Secunderabad in area of Therapeutic and Special Education aspects accordingly assessment forms were filled and verified for recommending approved list of aids \ appliances and TLMs in accordance to the severity level of disability and functional need of beneficiaries .

Total 37 no. of assessment completed with 34 no. of Students Intellectual disability and 3 no. of associated condition of visual, hearing motor impairment.

SmtV.R.P.Sheilaja Rao CC-ADIP

### Kits for Intellectual disability

Sl.No.	Description	Quantity	Rate each	Amount Rs.
			Rs.	
1	Kit -1 Age Group 0-3 yrs (code	1	7090.00	7090.00
	:EI)			
2	Kit -2 Age group 3-6 yrs (Code:	37	9330.00	345210.00
	PP)			
3	Kit -3 Age group 7-11yrs (Code:	53	8653.00	458609.00
	PR)			
4	Kit - 4 Age group 12-15 & 16-18	83	10327.00	857141.00
	yrs (Code: SEC/PV)			
	Total			1668050.00

### Educational Aids for Hearing Impairment

Sl.No.	Description	Quantity	Rate each	Amount Rs.
			Rs.	
1	Analog body level Hearing Aids (TD OH 58)	8	1162	9296
2	BTE Digital Type Hearing Aid (TD OE 15) + 6 Packs of 13 Zinc Air Battery (TD OE 21)	15	5237	78555
3	Cochlear Implantation	4	10 Lakhs	As prescribed in ADIP implemented and revised Scheme
	Total	•		87851

### Educational Aids for Visual Impairment and Low Vision

Sl.No.	Description	Quantity	Rate each	Amount Rs.
			Rs.	
1	Smart cane	127	3000	381000
	Smart cane Type II	10	3000	30000
2	Smart phone with screen reading software for persons with blindness	19	12000	228000

3	Pocket size external keyboard	8	5000	40000
4	Tablet	5	20000	100000
5	Screen reading software	50	20000	1000000
6	Screen magnification software	5	20000	100000
7	Laptops with screen reading software	151	25000	3775000
8	Cubarithem	2	5000	10000
9	Snake and ladder with dice plate+ludo with dice	2	2400	4800
10	Video magnifier	1	10000	10000
11	Optical magnifiers	1	5000	5000
12	Low vision aid	1	Kit-5 (B)	12000
13	Lasix surgery for eyes	1	35000	35000
	Total			5730800

# Educational Aids for Orthopedic Impairment

Sl.No	Description	Quantity	Rate each Rs.	Amount Rs.
1	laptop	32	25000	800000
2	Motorized Wheelchair TD 2A 25	8	28380	227040
3	Crutch Elbow (Aluminium)	1	864 per piece	864
	Size II - TDIN24			
4	Crutch Axilla Adjustable (Aluminium) TDIN39	1	1728	
5	Fabricated KAFO RLOZO5/O2	1	1364	1364
	(Kit KAFO, LM Small (left)			
6	Ottobock caliper with auto unlock	2	610200 ( Invoice is attached)	1220400
7	Wheel chair Folding Standard Model Adult Sixe – SAATHI	15	6000	90000
	(TD 2C 51)			

9	Motorised Tricycle Product code no. : TD 2 A 6 5	d Tricycle 28380 code no. : TD 2 A 6 5				
10	Walker frame	4	900	3600		
11	Adjustable Walking Stick	2	365	730		
	(TD 1N 62)					
12	Walking Cane (TD 2N 52)	5	724	3620		
13	Calipers RL 5K 87	1	820	820		
13	Calipers RL 5K 88	1	820	820		
14	Above knee caliper	1	To be explored			
15	Corrective shoe caliper	1	To be explored			
16	Crutches	3	1728	5184		
17	Right Hand Splint	2	350	700		
18	Cock up splint	1	270	270		
19	Thoraco lumbar brace	1	1070	1070		
20	Surgery for club foot (Refer to cost from Dr)	1	To be explored			
21	Myo Electric hand	1	To be explored			
	Total	•				
	Total					

# **SPURTHY SPECIAL SCHOOL**

SERIAL				TYPE OF	
NO	NAME	AGE	GENDER	DISABILITY	KIT(CODE)
1	B.Varshitha	10	F	MR	2(Code:PP)+corrective walker frame
2	S.Sai kumar	19	M	MR	4(Code:SEC/PV)
3	P.Krishnaveni	20	F	MR	4(Code:SEC/PV)
4	SK Asmath	16	M	MR	4(Code:SEC/PV)
5	E.Ganesh	17	M	MR	4(Code:SEC/PV)
6	G.Bhramarambika	20	F	MR	4(Code:SEC/PV)
7	B.Bhavya	14	F	MR	4(Code:SEC/PV)
8	A.E.Anand raj	13	M	MR	4(Code:SEC/PV)
9	A.Bhavani	14	F	MR	4(Code:SEC/PV)
10	Rubina	12	F	MR	4(Code:SEC/PV)
11	E.Harish	14	M	MR	3(Code:PR)
12	B.Malathi	11	F	MR	3(Code:PR)
13	Y>Bhaskar rao	12	M	MR	3(Code:PR)
14	A.Lokesh srikar	9	M	MR	3(Code:PR)
15	S.Thaiyaseen	10	M	MR	3(Code:PR)+Right hand splint
16	S.Srinivas	9	M	MR	3(Code:PR)
17	B.Vinesh	10	M	MR	3(Code:PR)
40	NAD OL	4.4		NAD	Mamta(TD2A06)Wheelchair product ofALIMCO +
18	MD.Ghoush basha	11	M	MR	Addjustablewalker
19	MD.Salman khan	14	M	MR	2(Code:PP)
20	A.Vinith	7	M	MR	2(Code:PP)
21	P.Keerthi	10	F	MR	2(Code:PP)+Corrective shoes calipers
22	M.Shruthi	11	F	MR	2(Code:PP)
23	M.Harshitha	10	F	MR	2(Code:PP)+corrective walker frame
24	G.Meghana	11	F	MR	2(Code:PP)
25	P.Nishanth reddy	7	M	MR	2(Code:PP)+corrective walker frame
26	Shaik ummi sulma	15	F	MR	2(Code:PP)
27	C.Amarendar	15	M	MR	2(Code:PP)+corrective walker frame
28	MD.Imran	13	M	MR	2(Code:PP)
29	B.Manoj	6	M	MR	2(Code:PP)
30	M.Malathi	13	F	MR	3(Code:PR)
31	D.Prasanna	20	F	MR	4(Code:SEC/PV)
32	K.Vjayalakshmi	11	F	MR	3(Code:PR)
33	Katta Gift	13	M	MR+NYSTAGMUS	3(Code:PR)
34	H.Banteja	9	M	MR	3(Code:PR)+Lowvision aid
35	Shanavaz Shoiab ahmed	10	M	MR	3(Code:PR)+Lowvision aid for mangnifier
36	khan	9	М	MR	3(Code:PR)

# **TOTAL**

KIT -2	12				
KIT-3	13				
KIT-4	10				
Corrective \	Walker Frame	3			
Right Hand Splint					
Corrective shoes calipers					
Low vision <i>i</i>	Aid	1			
Low vision Aid for magnifiers					
Wheel chai	r and walker	1			
Caliper		1			

## HELEN KELLER FOR DEAF AND MR CHILDREN SPECIAL SCHOOL

				TYPE OF	
S.NO	NAME	AGE	GENDER	DISABILITY	HEARING AIDS
1	E.Bhavani	14	F	HI	BTE(Both Ears)+6pack of 13 zinc air battery(Code:TDOE21)
2	Limmala Nova	10	M	HI	Analog Body level Hearing aids
3	Limmala Victor	10	M	HI	Analog Body level Hearing aids
4	K.Manusha	13	F	HI	Analog Body level Hearing aids
5	M.Meena	11	F	HI	Analog Body level Hearing aids
6	T.Glandina	13	F	HI	Analog Body level Hearing aids
7	D.jyothi	12	F	HI	Analog Body level Hearing aids
8	V.Sai siva	8	M	HI	Analog Body level Hearing aids
9	G.Vijayalakshmi	9	F	HI	Analog Body level Hearing aids
10	G.Issacdaniel	15	M	HI	BTE(Both Ears)+6pack of 13 zinc air battery(Code:TDOE21)
10	G.133acuariiei	13	IVI	111	BTE(Both Ears)+digital type hearing aid (code:TDOE15)+6pack
11	K.Mamatha	22	F	HI	of 13 zinc air battery(Code:TDOE21)
					BTE(Both Ears)+digital type hearing aid (code:TDOE15)+6pack
12	K.Pujitha	11	F	HI	of 13 zinc air battery(Code:TDOE21)
	Mohummad				BTE(Both Ears)+digital type hearing aid (code:TDOE15)+6pack
13	abdul kaleem	8	M	HI	of 13 zinc air battery(Code:TDOE21)
					BTE(Both Ears)+digital type hearing aid (code:TDOE15)+6pack
14	Mariyemma	16	F	HI	of 13 zinc air battery(Code:TDOE21)
4.5	5	•	_		BTE(Both Ears)+digital type hearing aid (code:TDOE15)+6pack
15	Bhagyalakshmi	8	F	HI	of 13 zinc air battery(Code:TDOE21)
1/	D Ciriobo	0	г	111	BTE(Both Ears)+digital type hearing aid (code:TDOE15)+6pack
16	P.Sirisha	8	F	HI	of 13 zinc air battery(Code:TDOE21)
17	G.Supriya	9	F	HI	BTE(Both Ears)+digital type hearing aid (code:TDOE15)+6pack of 13 zinc air battery(Code:TDOE21)
17	G.Supriya	,	1	111	BTE(Both Ears)+digital type hearing aid (code:TDOE15)+6pack
18	V.Balaji	9	M	HI	of 13 zinc air battery(Code:TDOE21)
					BTE(Both Ears)+digital type hearing aid (code:TDOE15)+6pack
19	Shahitra	8	F	HI	of 13 zinc air battery(Code:TDOE21)
					BTE(Both Ears)+digital type hearing aid (code:TDOE15)+6pack
20	V.Suryanarasimha	13	M	HI	of 13 zinc air battery(Code:TDOE21)

## **TOTAL**

Analog Body Level HI	8
BTE With	
Batteries	12

# **ENGLISH FORIGN LANGUAGE UNIVERSITY(EFLU)**

S.				TYPE OF	
NO	NAME	AGE	SEX	DISABILITY	RECOMMENDED AIDS AND APPLIANCESS
1	E.Nagamni	26	F	OH	Laptop(8.02-1)+Motorised Wheelchair TD2A25
2	Bairi Mamatha	24	F	ОН	Laptop(8.02-1)+Motorised Wheelchair TD2A25
3	Aadi lakshmumma	26	F	ОН	Laptop(8.02-1)+Motorised Wheelchair TD2A25
4	M.Koteshwar rao	29	М	ОН	Laptop
5	Chandrani roy	21	F	ОН	Laptop
6	G.Tirupathi	34	M	ОН	Tablet
7	B.Shyam	26	M	OH	Laptop
8	Ithagani venkanna	28	M	OH	Laptop
9	Swami naik Banothu	24	M	OH	Laptop
10	Manal Doshi	24	M	OH	Laptop
11	M.Lakshman raju	26	M	OH	Laptop
12	V.Kranti kumar	22	M	OH	Tablet+Myoelectric hand
13	C.Sujith	20	M	OH	Motorised Wheelchair With Left Hand Joy Stick
	Mohammad				
14	Rafeequddin	32	M	OH	walking Stick TD1N62
15	K.venkatesh	33	M	OH	Laptop
16	G.Naresh	24	M	OH	Laptop
17	S.Sunil kumar	38	M	OH	Laptop
18	P.Rajendra	29	M	ОН	Laptop+Below knee caliper RL5K87
19	Reveli Padma	26	F	OH	Laptop
20	Shyam rao Jadev	30	M	ОН	Laptop+ caliper RL5K87
21	K.Siva kumar	18	M	OH	Tablet
22	D.Srikanth reddy	18	M	OH	Tablet
22	V Nagoch	24	М	ОН	Laptop+ Will benefit B/L hip and knee deformity correction
23 24	Y.Nagesh Vasuveda Naidu	2 <del>4</del> 27	M	ОН	followed by above knee caliper Laptop+Ottobock Prothesis
2 <del>4</del> 25	K.Geetha	27	F	VI	Smart Cane+Laptop with screen reading software
26		18	М	VI	Smart Cane+Laptop with screen reading software
27	Rajeshwar reddy P.Sravan	19	M	VI	Smart Cane+Laptop with screen reading software
28	Sankara varaprasad	19	M	VI	Smart Cane+Laptop with screen reading software
26 29	K.Narasimha	18	M	VI	Smart Cane+Laptop with screen reading software
30	K.Naresh	21	M	VI	Smart Cane+Laptop with screen reading software
31	K.Sabitha	19	F	VI	Smart Cane+Laptop with screen reading software
31	K.Jabitila	17	1	VI	Smart cane+Laptop with screen reading software
32	C.Ramamunireddy	32	М	VI	Smart Cane type 2 +Smartphone with screen reading software
33	P.Bhupathi	25	М	VI	Smart Cane type 2 +Smartphone with screen reading software
34	S.Femi	21	F	VI	Smartphone with screenreading software
35	Y.Sureshbabu	26	М	VI	Smart Cane type 2 +Smartphone with screen reading software
36	B.Jyothsnaphanija	24	F	VI	Smart Cane type 2 +Smartphone with screen reading software
37	A.R.Jyothi priya	24	F	VI	Hand Held Portable Video Magnifier For Acadamic
	-				

					Purpose(Brand Ruby Snow White or Other Colours)
38	G.Chintala rama rao	22	М	VI	Smart Cane type 2 +Laptop with screen reading software
39	Kotta Jakkar	23	M	VI	Smart Cane type 2 +Laptop with screen reading software
40	R.Tirupathi naik	32	M	VI	Smart Cane+Laptop with screen reading software
41	B. Venkateswar rao	22	M	VI	Smart Cane+Laptop with screen reading software
42	N.Channa reddy	20	M	VI	Smart Cane+Laptop with screen reading software
43	V.Ganga raju	25	M	VI	Smart Cane+Laptop with screen reading software
44	Sama Ramesh	30	M	VI	Laptop with screen reading software
45	B.Harish	17	M	VI	Smart Cane+Laptop with screen reading software
46	K.Bugya	23	F	VI	Smart Cane+Laptop with screen reading software
47	Oburamma	19	' F	VI	Laptop with screen reading software
48	M.Aadilakshmi	18	' F	VI	Smart Cane+Laptop with screen reading software
49	E.Mutyaramma	20	' F	VI	Laptop with screen reading software
50	L.Akhil	18	M	VI	Smart Cane type 2 + laptop with screen reading software
51	J.Nagaraju	22	M	VI	Smart Cane type 2 + Smartphone with screen reading software
52	K.Manjunath	21	M	VI	Smart Cane + laptop with screen reading software
53	S.harilal	24	M	VI	Smart Cane + laptop with screen reading software
54	R.Mamatha	19	F	VI	Smart Cane + laptop with screen reading software
55	T.Navaneetha	18	F	VI	Smart Cane + laptop with screen reading software
56	P.Venkatramaiah	24	M	VI	Smart Cane + laptop with screen reading software
57	K.Chenamma	21	F	VI	Laptop with screen reading software
58	R.Mangamma	20	F	VI	Smart Cane + laptop with screen reading software
59	Dasari Govindamma	19	F	VI	Smart Cane + laptop with screen reading software
60	B.Umamaheshwari	24	' F	VI	Smart Cane + Taptop with screen reading software
61	G.Nagarani	19	' F	VI	Smart Cane + Taptop with screen reading software
62	J.Satish	19	M	VI	Smart Cane + laptop with screen reading software
63	C.Ramu	18	M	VI	Smart Cane + laptop with screen reading software
64	G.Gayatri	20	F	VI	Laptop with screen reading software
65	B.Mounika	18	F	VI	Smart Cane +Smartphone with screen reading software
66	Mohummed Shafi	22	M	VI	Smart Cane + laptop with screen reading software
67	B.Triveni	18	F	VI	Smart Cane + laptop with screen reading software
<b>C</b> .	Raziya Sulthana		•	•.	official Course Francisco Control Course
68	Begum	23	F	VI	Smart Cane + laptop with screen reading software
69	D.Sambasivarao	29	М	VI	Smart Cane +Smartphone with screen reading software
70	H.Vasanthamma	19	F	VI	Smart Cane + laptop with screen reading software
71	K.Vigneshwar	23	Μ	VI	Smart Cane + laptop with screen reading software
72	V.Kesra vasu	35	Μ	VI	Smart Cane type 2 + laptop with screen reading software
73	J.Anusha	20	F	VI	Smart Cane + laptop with screen reading software
74	P.Vijay kumar	18	М	VI	Smart Cane + laptop with screen reading software
75	M.Gayatri	18	F	VI	Smart Cane + laptop with screen reading software
76	K.Sunitha	22	F	VI	Smart Cane + laptop with screen reading software
	T.Hemanth venkata				Smart cane + 8.02 (2,3,4) snake ladder with dives+dice plate+ludo
77	sai kumar	9	M	VI	with dice

					Crearly come 0.02 (2.2.4) analysis ladden with divest discomists ladd
78	T.Pratyusha	11	F	VI	Smart cane + 8.02 (2,3,4) snake ladder with dives+dice plate+ludo with dice
79	NS.Nagaprasad	44	Μ	VI	Smart Cane +Smartphone with screen reading software
80	P.Himabindu	19	F	VI	Smart Cane + laptop with screen reading software
81	V.Ravi Naik	18	Μ	VI	Smart Cane + laptop with screen reading software
82	J.Rojarani	19	F	VI	Smart Cane + laptop with screen reading software
83	B.Mahesh	19	Μ	VI	Smart Cane + laptop with screen reading software
84	T.Ganesh	25	F	VI	Smart Cane + Smart phone with screen reading software
85	M.Sandeep reddy	21	F	VI	Smart Cane + laptop with screen reading software
86	I.Pochaiah	23	Μ	VI	Smart Cane + laptop with screen reading software
87	M.Siva kumar	20	Μ	VI	Smart Cane + laptop with screen reading software
88	B.Prasad Reddy	25	Μ	VI	Smart Cane+Laptop with screen reading software
89	B.Rakesh	17	Μ	VI	Smart Cane +laptop with screen reading software
					Smart cane +Smart phone with screen reading software+pocket
90	N.Rameshwar	21	M	VI	size external keyboard
0.1	Sunkaraboina	0.0	_		
91	Manjula	29	F	VI	Smart Cane +laptop with screen reading software
92	Boya Bhaskar	19	M	VI	Smart Cane type 2 + laptop with screen reading software
93	T.Swathi	16	F	VI	Laptop with screen reading software
94	Masapuri Sandhya	19	F	VI	Smart Cane +laptop with screen reading software
95	G.Jagadeshwar rao	18	M	VI	Smart Cane +laptop with screen reading software
96	V.Srinivasulu		M	VI	Smart Cane +laptop
97	K.Yadigiri	24	M	VI	Smart Cane +laptop with screen reading software
98	D.Bhaskar	19	M	VI	Smart Cane +laptop with screen reading software
99	D.Suresh	19	M	VI	Smart phone with screen reading software
100	E.Anji reddy	20	M	VI	Smart Cane +laptop with screen reading software
101	K.Ramesh	20	M	VI	Laptop with screen reading software
102	B.Bhaskar	18	M	VI	Laptop with screen reading software
103	S.Ravinaik	19	M	VI	Smart Cane +laptop with screen reading software
104	K.Mahesh	18	Μ	VI	Smart Cane + Smartphone with screen reading software
105	J.Harikrishna	21	Μ	VI	Laptop with screen reading software
	Pichhikuntala				
106	Srenivasulu	21	М	VI	Smart Cane +laptop with screen reading software
107	Sripuram Abhinai	20	М	VI	Smart Cane +laptop with screen reading software
108	Koola Prakash	14	M	VI	Smart Cane +Smart phone with screen reading software
109	T.Rangareddy	18	М	VI	Smart Cane +Smart phone with screen reading software
	Reddy palli patta				
110	Ganesh	18	M	VI	Smart Cane +laptop with screen reading software
111	G.Madhuri	22	F	VI	Smart Cane +laptop with screen reading software
112	D.Manasa	23	F	VI	Smart Cane +laptop with screen reading software
113	Umair Ahmed	19	М	VI	Smart Cane +laptop with screen reading software
114	G.Badesab	22	M	VI	Smart Cane +laptop with screen reading software

115	Anil Kumar	26	M	VI	Smart Cane +laptop with screen reading software
116	A.Saraswathi	18	F	VI	Smart Cane +laptop with screen reading software
117	K.Aditya	20	Μ	VI	Smart Cane +laptop with screen reading software
118	Kadiri Prasad	17	Μ	VI	Smart Cane +laptop with screen reading software
					Smart Cane + Smartphone with screen reading software+pocket
119	R.Swami naik	20	Μ	VI	size external keyboard
120	K.Nagaraju	24	Μ	VI	Smart Cane +laptop with screen reading software
121	Suman Chakravarthi	29	Μ	VI	Smart Cane +laptop with screen reading software
122	Tupakula Anusha	19	F	VI	Smart Cane + laptop with screen reading software
123	Kapu Yashoda	18	F	VI	Smart Cane + laptop with screen reading software

### **TOTAL**

Tablet	4
Smart Phone	15
Laptops	100
Snake Ladder With	
Dives+Ludo dice plates	2
Smart canes	77
Motorized wheelchairs	4
Above knee caliper	1
Ottobock Prothesis	1
Video Magnifier (Brand Ruby Snow)	1
Smart cane Type 2	10
pocket size external keyboard	2

### ABHAYA CARE FOUNDATION

S.NO	NAME	AGE/SEX	CASTE	TYPE OF	KIT TYPE
				DISABILITY	CODE
1	T.Hemanth Kumar	16/M	BC	M.R	Kit-4 (SEC/PV)
2	J.Sivaram	16/M	SC	M.R	Kit-4 (SEC/PV)
3	B.Varsha	10/F	SC	M.R	Kit-2 (Code:pp)
4	Aliga Vijay	28/M	SC	Orthopedic	Wheelchair
				Disability	

### SRI VIDHYA SPL SCHOOL

S.NO	NAME	AGE/SEX	CASTE	TYPE OF	KIT TYPE
				DISABILITY	CODE
1	K.Vishal	8/M	BC	M.R	Kit-2 (Code:PP)
2	N.Chaityna	5/F		M.R	Kit-3 (Code:PR)
3	K.Arun Kumar	10/M	BC	M.R	Kit-2 (Code:PP)
4	D.Keerthana	7/F	BC	M.R	Kit-2 (Code:PP)
5	Murali Krishna	8/M		M.R	Kit-4
					Code:SEC/PV)
6	B.Sai Nisha	10/F		M.R	Kit-4
					Code:SEC/PV)
7	Chiluka Nirajan	17/M		M.R	Kit-3 (Code:PR)

TOTAL = 07

### KIRANAM SPL SCHOOL

S.N	NAME	AGE/SE	CAS	TYPE OF DISABILITY	KIT TYPE CODE
О		X	TE		
1	K.Arun kumar	10/M	ST	CP+M.R	KIT-2 Code(PP)+
					Wheel Chair
2	A.Rishik Sai	9/M	BC	M.R	KIT-2 Code(PP)+
					Wheel Chair
3	B.Siva Kumar	9/M	BC	CP+M.R	KIT-2 Code(PP)+
					Wheel Chair
4	B.Amrutha Valleswari	8/F	OC	Deaf and Dumb	KIT-2 Code(PP)+
					BTE+Cochlear
					Implantation
5	C.H.Elisha Bobby	9/M	BC	M.R	KIT-2 Code(PP)
6	M.Praaaamukya	5/F	SC	CP+M.R	KIT-2
					Code(PP)+Caliper
7	k.Pavan Kumar	16/M	BC	M.R	KIT-3 Code(PR)
					Adv consult ENT

					Doctor For HI (DR.G.Sreekanth) 9885135166 Ass Prof GANDHI HOSPITAL
8	J.Arvind Babu	13/M		M.R	KIT-3 Code(PR)
9	P.Kanna Reddy	11/M	OC	M.R	KIT-2 Code(PP)+ Wheel Chair
10	P.Bala Sunil	13/M	SC	M.R	KIT-3 Code(PR)
11	Muddam Akhila	14/F	OC	M.R	KIT-3 Code(PR)
12	Pagadala Deborah	9/F	SC	M.R	KIT-3 Code(PR)
13	N.Sai Goutham	11/M	OC	CP+M.R	KIT-3 Code(PR)
14	Reddy Durga Meena Devi	35/F	OC	M.R+Down syndrome	KIT-4 Code(SEC/PV)+ Cochlear Implantation
15	E.Madhavi	22/F	BC	M.R	KIT-4 Code(SEC/PV)+ Audio-Visual Aid
16	B.Varalakshmi	13/F	ВС	M.R	KIT-4 Code(SEC/PV)+ Audio-Visual Aid
17	M.Sandeep Reddy	32/M	OC	M.R	KIT-4 Code(SEC/PV)+ Audio-Visual Aid
18	S.Meera Sharif	18/M	BC	M.R	KIT-4 Code(SEC/PV)+ Audio-Visual Aid
19	N.Sangeetha	18/F	ST	Post Polio Residual Paralysis (PPRP)	KIT-4 Code(SEC/PV)+ Hand Splint+ Adv Club Foot Surgery
20	E.Mounika	16/F	ВС	M.R	KIT-4 Code(SEC/PV)+ Adv LASIX Surgery with Ophthalmologist
21	R.Madhu Kumar	21/M	BC	CP+M.R	KIT-4 Code(SEC/PV)+

					Wheel Chair
22	Muthyala Mahesh	25/M	BC	M.R	KIT-4
					Code(SEC/PV)
23	M.Rathna Jyothi	18/F	BC	M.R	KIT-4
					Code(SEC/PV)
24	K.Jeevan Kumar	24/M		M.R	KIT-4
					Code(SEC/PV)
25	M.Raghavendra	24/M	OC	M.R	KIT-4
					Code(SEC/PV)
26	Durgaprasad	20/M	BC	M.R	KIT-4
					Code(SEC/PV)
27	D.Sarnalatha	20/F		M.R+Down syndrome	KIT-4
					Code(SEC/PV)
28	D.Vamshi	30/M		M.R	KIT-4
					Code(SEC/PV)
29	V.Srihari	20/M		M.R	KIT-4
					Code(SEC/PV)
30	N.Lavanya	20/F		M.R+Down syndrome	KIT-4
					Code(SEC/PV)
31	D.Swathi Magana	9/F	BC	HI	Cochlear
					Implantation Adv
					Show Once
					Neurosurgeon
	27.0.111	0.1.7.5			(DR.Manaspanigaru)
32	N.Sai kiran	24/M		M.R	KIT-4
	77.0.1.1	0.1.7.5			Code(SEC/PV)
33	K.Srinivas	31/M		M.R	KIT-4
					Code(SEC/PV)+
2.4	D.M.G.M.D.	27.7.5		167	Walking Cane
34	B.V.S.M Raju	37/M	D.G.	M.R	Wheel Chair
35	K.Ashok Kumar	9/M	BC	M.R	KIT-4
0.5	a a:	1177		14.0	Code(SEC/PV)
36	S.Siva	11/M		M.R	
37	M.Sharat	25/M	D ~	M.R	
38	Ramya	15/M	BC	M.R	

### ARUN SPL SCHOOL

S.NO	NAME	AGE/SEX	CASTE	TYPE OF	KIT TYPE
				DISABILITY	CODE
1	Aswin Kumar	9/M	BC	M.R+BCH	Kit-2
				Problem	code(pp)
2	M.Madhan	14/M	BC	M.R	Kit-3
					code(PR)

3	Abdul Shoaib	18/M	OC	M.R	Kit-4
	Mohiuddin				code(sec/pv)
4	Mohammad	18/M	OC	M.R	Kit-4
	Ibrahim				code(sec/pv)
5	Aishwarya	17/F	SC	M.R	Kit-4
					code(sec/pv)
6	P.Raju	37/M	BC	M.R	

## National Institute for the Mentally Handicapped

S.NO	NAME	AGE/SEX	Caste	TYPE OF	KIT TYPE CODE
				DISABILITY	
1	Sharadha Dhunde	13/F	BC	M.R	KIT-3 (CODE PR)
2	K.Gideon	8/M	BC	M.R	KIT-2 (CODE:PP)
	Jeevaratnam				
3	Sadaf Jaskin	14/F	OC	M.R	KIT-3 (CODE PR)
4	Y.Dinesh Kumar	15/M	OC	M.R	KIT-4 (CODE:SEC/PV)
5	Y.Sai Krishna	14/M	OC	M.R	KIT-3 (CODE PR)
6	Aarshiya Begum	10/F	OC	M.R	KIT-2 (CODE:PP)
7	S.Balaji	12/M	BC	M.R	KIT-3 (CODE PR)
8	Palammarri	8/F	SC	M.R	KIT-2
	Meramma				(CODE:PP)+Wheelchair
9	S.P.Aju	11/M	OC	M.R	KIT-3 (CODE PR)
10	D.Vivek	11/M	BC	M.R	KIT-3 (CODE PR)
11	A.Vamshi	12/M	BC	M.R	KIT-3 (CODE PR)
12	Uzma Unnisa	10/F	OC	M.R	KIT-2 (CODE:PP)
13	Mohammad	14/M	OC	M.R	KIT-3 (CODE PR) +
	Surfraz Ali				Walking Cane
14	G.Sandeep	13/M	ST	M.R	KIT-3 (CODE PR)
15	B.Shivanand	12/M	BC	M.R	KIT-3 (CODE PR)
16	Mohammad	7/M	OC	M.R	KIT-2
	Shaib				(CODE:PP)+Wheelchair
17	D.Shivani	3/F	BC	M.R	KIT-1(CODE
					:EI)+Wheelchair
18	C.Roshan	10/M	BC	M.R	KIT-2 (CODE:PP)

TOTAL = 18

BOYS =12

GIRLS =06